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1.  Answer Any Five of the Following Questions: 2 x 5 = 10 

  নীচের যে য োচনো পোাঁেটি প্রচের উত্তর দোও:  

    

(a)  What is Marginal Propensity to Consume (MPC)?  

  প্রোটি  য োগ প্রবণতো (MPC) ট ?  

(b)  Define GDP at market price.  

  বোজোর দোচে যেোি যদশজ উৎপচের সংজ্ঞো দোও।  

(c) 

 

 What is meant by GDP deflator?  

  GDP deflator বলচত ট  যবোঝোয়?  

(d)  Define personal disposable income.  

  বযটিগত বযয়চেোগয আচয়র সংজ্ঞো দোও।  

(e)  What is meant by simple Keynesian investment multiplier?  

  সরল য ইনসীয় টবটনচয়োগ গুণ  বলচত ট  যবোঝোয়?  

(f)  What do you mean by value of money?  

  অচথের েূলয বলচত ট  যবোঝ?  

(g)  State Say’s Law of markets.  

  বোজোর সম্বন্ধীয় যস’র টনয়েটি টববৃত  র।  

(h)  Define inflation.  

  েুদ্রোস্ফীটতর সংজ্ঞো দোও।  
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2.  Answer Any Four of the Following Questions: 5 x 4 = 20 

  নীচের যে য োচনো েোরটি প্রচের উত্তর দোও:  

(a)  Briefly discuss the census of production method of measurement of national income.  

  জোতীয় আয় পটরেোচপর উৎপোদন শুেোরী পদ্ধটতটি সংচেচপ আচলোেনো  র।  

(b)  Write down the problems of using national income as a measure of economic welfare.  

  জোতীয় আয়চ  অথেননটত   লযোচণর পটরেোপ টিসোচব বযবিোর  রোর সেসযোগুটল যলখ।  

(c)  Explain the accounting identity between saving and investment.  

  সঞ্চয় ও টবটনচয়োচগর পটরেোপজটনত অট েতো বযোখযো  র।  

(d)  Explain the properties of Keynesian consumption function with the help of suitable  

 diagram. 

 

  উপেুি টেত্র সিচেোচগ য ইনসীয় য োগ অচপেচ র ববটশষ্ট্যগুটল বযোখযো  র।  

(e)  Describe different functions of money.  

  অচথের টবট ে  োজগুটল বণেনো  র।  

(f)  Explain the causes of inflation.  

  েুদ্রোস্ফীটতর  োরণগুটল বযোখযো  র।  

   

3.  Answer Any One of the Following Questions: 10 x 1 = 10 

  নীচের যে য োচনো এ টি প্রচের উত্তর দোও:  

(a)  Discuss how equilibrium level of national income is determined in the simple  

 Keynesian model and explain whether the equilibrium is stable. 

 

  সরল য ইনসীয় েচেচল  োরসোেয জোতীয় আয় ট  োচব টনর্েোটরত িয় তো আচলোেনো  র এবং এই   
  োরসোেয স্থোয়ী ট নো বযোখযো  র। 

 

(b)  Write down a detailed comparative analysis about Fisher and Cambridge version of    

 quantity theory of money. 

 

 

 

  অচথের পটরেোচণর তচের টিশোর এবং য েটিজ সংস্করণ সম্পচ ে এ টি তুলনোেূল   টবচেষণ  র। 
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